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poler 4 . 101
x*—7x*-5=0 X+x ' =sgx.x'=p
xXX=t>0=>t?-7t-5=0>
t=t,<033¢ t=t,>0=>x=t>
X, x =+t 285=0
,_ 7EV49+20

= 2

/jﬂ

2p2—35p+25=2p2:2\

2

1 2 49+ 69 + 1469
7><(7+\/69) = > =59 + 7v69

(log?5 — log?2)logs(3x—2)=1
2

5 log(3x —2) B

loglelog?x 1=

log%

logB3x—2)=1=3x-2=10=>x=4
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polex 4 . 103

(log,13)% + log,, 7> x 3 x log,;21% x 3

= (log,13)* + (log,1 21 X 7) X (log,, 21% + log,, 3)

—

1+109217=1+10921T=1+1—109217

(log213)*+(2 — log,13)(2 + logz;3) = 4

Py 4 ¥ . 104

! g Sl ko 031508 o0 X > —— (131 4
((m? — 1)2? — 4mx + 4)(x - 3Vx +2) > 0
(Vx —1)(Vx —2)

+ - 3 3
@2k e (54) Gnx>—539(24) 5

(m? -1)x*—-4mx+4<0
el g om =1 il 4

m=1=>--4x+4<0=>x>1

F9S 4y ¥ . 105
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a
2tanT

sina

a ~
2 1
1+ tan >

V1 —sinta = 15
17
, 8 8x17—8x15
tana — sina 15 _ 1Ex 17
sina — cosa 8 8-15
17 17

8(17 - 15
( 15 ) _ 16

8—-15

4sina(1 — 2sin*a) + 2sina = 6sina — 8sina =

41
2(3sina — 4sina) = 2sin3a = 2sin 3=

11')_ \/?

=-2X——=—V3

2sin (14-11' _— >

3

eolez 40 . 107
1
(14 cos2a)(1 + cos4a)(1 + cos8a) = -

1
2cos’a x 2cos?*2a x 2cos*4a = 5

1
cosa cos2a cosda = E

sina cosa cos2a cosda g5 in8a 1 . (
- = - = — = sin8a = sina
sina sina 8

3
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_ 2km N _ 6w

{8a=2kn+a N a=— max = —
— — 2k+1)m 8w
8a=2krmr+m—«a a=%=>max=7

8m
> max = T

Py 4 ¥ 108

X
ax2+bx+c=(2ax+b)(?+1)—2=>

b
b:2a+7:>b:4a

b—2=c=>c=4a-2
a=1=>b=4>c=2 min(a+b+c) =7

Jol 415 .109

Jolaw ¥ . 110
a, =1, a, =4, a,=1+a, az; =2, a, =2
a5:1+5, a6:4', a7:O, a8:2+a, a9:8

&&=25+3aa=19>a= -2
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Poler 4 . 111

Sogre Y = 27 — 277 domiii 30 9 (G090 —27F gl (J9F 27 9 (G3gr0 27 b

vowl

3
coszx=()=>y=—7

15
coszx=1=>y=22—2‘2=T

£ ane = L
X=0=ulone=— o= ©)

1 &
Xx=-4>_——>0=>1 4wy

pow 4237 . 113
y=Vv4—-x +k

.\;rémy=\/4—(x—k+2) + k 35 Wb i
k=0

y=Vv2—-x —-1=0=>x=1

Pow s ¥ . 114
cwl gl Gl x = 1 58 f(x)
ol g6 $ike g(%) = +1 53 fog 3

gx)=—-1=21-x*=-1=>x=+V2
5
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P98 4y ¥ . 115

9loggx — xlogg9 — x2 x>0

poer G5 . 116

tanz(

Y

(1-cosv2x )"

1-v1-x2
l—x2
2

2

polez 4 . 118

—-8x*+6x*+2  (x—1)(—8x*—2x-2)
—8x3+6x+2 = —2(x—1)(2x + 1)2

F9S 4b ¥ . 119

50 55 50%51

a9 1k

lim

X—> —00
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| a1 x51|

-1

k=51

o 4 ¥ 120
P 8gw Jo Wyge X = 0 il 4wl
1+a(0)+b=0=>b=-1

. ™™ ~ —6c0s32x sin2x + 2ax
lim =2 = lim =2
x— 0~ X x— 0~ X

lim 22212 _ 9 a=7 a+b=6

x— 0~ X

f(x) = |sin2x| + 1 A |(1)

x— 0 "= f(x) =2cos2x>m=2 >2y—1=2(x—-0)

x— 0> f((x) =—-2cos2x>m =-2 =>y—1=-2(x—-0)
1

1 1 T3

y=2x+1=—x=>x=—7=>y=7 A

1

y=-"2x+1=—-x>x=1=>y=-1 B_1
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f0)==, f(17) = 4o
f(1*) = =0, f(+00) = 400

4x3(x3 — 8) — 3x%(x?)

P9S 4 ¥ . 122

cowl (S0gx0 (0,1). 9 (10) 3o b

polez 4 ¥ . 123

f(x) =

(x3 — 8)?
x3(4x3-32-3x3)=0=>x=0,%32

- +

N/

Jsb=2<(0,2) »»
Jev=2(Va —1) = (2,2V%) 5

o 4457 . 124

Dbl A1 g0 g1 98 3 450 Hloged

A

N\
\B

ol AB Silae RIPE oloo 457 3518 3929 dladi 90
8
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